# A NOTE ON THE INVERSE PROBLEMS ASSOCIATED WITH SUBSEQUENCE SUMS

FANG SUN, YUANLIN LI, AND JIANGTAO PENG\*

ABSTRACT. Let  $G = C_n \oplus C_n$  with  $n \geq 3$  and S be a sequence with elements of G. Let  $\Sigma(S) \subset G$  denote the set of group elements which can be expressed as a sum of a nonempty subsequence of S. In this note, we show that if S contains 2n-3 elements of G, then either  $0 \in \Sigma(S)$  or  $|\Sigma(S)| \geq n^2 - n - 1$ . Moreover, we determine the structures of the sequence S over G with length |S| = 2n - 3 such that  $0 \notin \Sigma(S)$  and  $|\Sigma(S)| = n^2 - n - 1$ .

#### 1. Introduction and main results

Let  $\mathbb{N}$  and  $\mathbb{Z}$  be the sets of positive integers and integers respectively, and  $\mathbb{N}_0 = \mathbb{N} \cup \{0\}$ . For  $a, b \in \mathbb{Z}$  we set  $[a, b] = \{x \in \mathbb{Z} | a \leq x \leq b\}$ .

Let G be an additive finite abelian group and let  $C_n$  denote the cyclic group of order n. Let ord(g) denote the order of  $g \in G$ . Every sequence S over G (i.e. S is a sequence with elements of G) can be written in the form

$$S = g_1 \cdot \ldots \cdot g_\ell = \prod_{g \in G} g^{\mathsf{v}_g(S)},$$

where  $v_g(S) \in \mathbb{N}_0$  denotes the multiplicity of g in S. We call  $|S| = \ell = \sum_{g \in G} v_g(S) \in \mathbb{N}_0$  the length of S,  $h(S) = \max\{v_g(S) \mid g \in G\} \in \mathbb{N}_0$  the maximum of the multiplicities of S,  $\operatorname{supp}(S) = \{g \mid v_g(S) \geq 1\} \subset G$  the support of S, and  $\sigma(S) = \sum_{i=1}^{\ell} g_i = \sum_{g \in G} v_g(S)g \in G$  the sum of S.

A sequence T is called a *subsequence* of S if  $\mathsf{v}_g(T) \leq \mathsf{v}_g(S)$  for all  $g \in G$ . If  $S_1$  and  $S_2$  are two subsequences of S such that  $\mathsf{v}_g(S_1) + \mathsf{v}_g(S_2) \leq \mathsf{v}_g(S)$  for all  $g \in G$ , let  $S_1S_2$  denote the subsequence of S satisfying that  $\mathsf{v}_g(S_1S_2) = \mathsf{v}_g(S_1) + \mathsf{v}_g(S_2)$  for all  $g \in G$ . Let

$$\Sigma(S) = {\sigma(T) \mid T \text{ is a subsequence of } S \text{ with } 1 \leq |T| \leq |S|}.$$

<sup>2010</sup> Mathematics Subject Classification. 11B75, 11P70.

Key words and phrases. Abelian groups; Inverse problems; Subsequence sums; Zero-sum free sequences.

<sup>\*</sup>Corresponding author.

The sequence S is called zero-sum if  $\sigma(S) = 0 \in G$ , zero-sum free if  $0 \notin \Sigma(S)$ , and minimal zero-sum if  $\sigma(S) = 0$  and  $\sigma(T) \neq 0$  for every subsequence T of S with  $1 \leq |T| < |S|$ .

The problem of determining the minimal cardinality of  $\Sigma(S)$  for zerosum free sequences S of a finite abelian group attracts many authors such as R.B. Eggleton and P. Erdös [2], J.E. Olson [7], B. Bollobás and I. Leader [1], W. Gao et al. [4], A. Pixton [10], P. Yuan and X. Zeng [15]. In 1999, B. Bollobás and I. Leader [1] stated the following conjecture.

**Conjecture 1.1.** [1, Conjecture 6] Let  $G = C_n \oplus C_n$  with  $n \geq 2$  and  $0 \leq k \leq n-2$  be an integer. Let  $\{e_1, e_2\}$  be a basis of G and  $T = e_1^{n-1}e_2^{k+1}$ . Let S be a zero-sum free sequence over G with length |S| = n + k. Then  $|\Sigma(S)| \geq |\Sigma(T)| = (k+2)n-1$ .

Conjecture 1.1 was confirmed for the cases when k = 0, 1, 2, n - 2 by several authors (see [12, 4, 14]).

The inverse problem associated with  $|\Sigma(S)|$  is to determine the structure of the sequence S over G with the given length such that  $|\Sigma(S)|$  archives the minimal cardinality (see [6, 8, 13] for more known results). Recently, J. Peng et al. [9] stated the following conjecture.

Conjecture 1.2. [9, Conjecture 2.4] Let  $G = C_{n_1} \oplus \ldots \oplus C_{n_r}$  be a finite abelian group with  $1 < n_1 \mid \ldots \mid n_r$ . Let  $k \in [0, n_{r-1} - 2]$  be an integer and S be a zero-sum free sequence over G of length  $|S| = n_r + k$ . Then  $|\Sigma(S)| \geq (k+2)n_r - 1$ , and the equality holds if and only if S has one of the following forms.

(1)  $\langle S \rangle \cong C_{k+2} \oplus C_{n_r}$ , where  $k+2 \mid n_r$ ;

(2)  $S = g^{n_r-1} \cdot (h + t_1 g) \cdot \ldots \cdot (h + t_{k+1} g)$ , where  $g, h \in G$  with  $\operatorname{ord}(g) = n_r$ ,  $ih \notin \langle g \rangle$  for every  $i \in [1, k+1]$ , and  $t_1, \ldots, t_{k+1} \in [0, n_r - 1]$  are integers.

In this note we give a positive answer to Conjecture 1.1 and Conjecture 1.2 for the case when  $G = C_n \oplus C_n$  with  $n \geq 3$  and k = n - 3. Our main result is as follows.

**Theorem 1.3.** Let  $G = C_n \oplus C_n$  with  $n \geq 3$ . If W is a zero-sum free sequence over G with |W| = 2n - 3, then  $|\Sigma(W)| \geq n^2 - n - 1$ . Furthermore the equality holds if and only if there exist a basis  $(g_1, g_2)$  of G and integers  $x_1, \ldots, x_{n-2} \in [0, n-1]$  such that  $W = g_1^{n-1} \prod_{\nu=1}^{n-2} (x_{\nu}g_1 + g_2)$ .

## 2. Proof of Theorem 1.3

We need the following technical result.

**Lemma 2.1.** [4, Lemma 3.1] Let G be a finite abelian group and A be a finite nonempty subset of G. Let  $r \in \mathbb{N}$ ,  $y_1, \ldots, y_r \in G$  and  $k = \min\{\operatorname{ord}(g_i) \mid i \in [1, r]\}$ . Then  $|\Sigma(0y_1 \cdot \ldots \cdot y_r) + A| \geq \min\{k, r + |A|\}$ .

Let  $G = C_n \oplus C_n$  with  $n \geq 2$ . We say that G has Property B if every minimal zero-sum sequence S over G of length |S| = 2n - 1 contains some element with multiplicity n - 1. It was proved that G has Property B for every positive integer  $n \geq 2$  (see contributions in [3, 11]). Therefore, we have the following conclusion.

**Lemma 2.2.** [5, Theorem 5.8.7] Let  $G = C_n \oplus C_n$  with  $n \geq 2$  and S be a minimal zero-sum sequence over G of length |S| = 2n - 1. Then there exist a basis  $(e_1, e_2)$  of G and integers  $x_1, \ldots, x_n \in [0, n - 1]$  with  $x_1 + \ldots + x_n \equiv 1 \pmod{n}$  such that  $S = e_1^{n-1} \prod_{\nu=1}^n (x_{\nu}e_1 + e_2)$ .

In 2008, W. Gao et al. [4] proved the following result.

**Lemma 2.3.** [4, Lemma 4.3] Suppose  $G = C_n \oplus C_n$  with  $n \geq 3$  satisfies Property B. If W is a zero-sum free sequence over G with |W| = 2n-3 then  $|\Sigma(W)| \geq n^2 - n - 1$ .

## Proof of Theorem 1.3

*Proof.* Note that  $G = C_n \oplus C_n$  has Property B for every positive integer  $n \geq 2$ . If W is a zero-sum free sequence over G with |W| = 2n - 3, it follows from Lemma 2.3 that  $|\Sigma(W)| \geq n^2 - n - 1$ .

Suppose that there exist a basis  $(g_1, g_2)$  of G and integers  $x_1, \ldots, x_{n-2} \in [0, n-1]$  such that  $W = g_1^{n-1} \prod_{\nu=1}^{n-2} (x_{\nu}g_1 + g_2)$ . Then  $|\Sigma(W) \cap \langle g_1 \rangle| = |\{g_1, \ldots, (n-1)g_1\}| = n-1, |\Sigma(W) \cap (jg_2 + \langle g_1 \rangle)| = |jg_2 + (\sum_{\nu=1}^{j} x_{\nu})g_1 + \{0, g_1, \ldots, (n-1)g_1\}| = n$  for every  $j \in [1, n-2]$ , and  $|\Sigma(W) \cap ((n-1)g_2 + \langle g_1 \rangle)| = 0$ . Therefore,  $|\Sigma(W)| = \sum_{j=0}^{n-1} |\Sigma(W) \cap (jg_2 + \langle g_1 \rangle)| = n-1 + n(n-2) = n^2 - n - 1$ .

Next we assume that W is a zero-sum free sequence over G such that |W| = 2n - 3 and  $|\Sigma(W)| = n^2 - n - 1 < n^2 - 1 = |G| - 1$ . Then  $\Sigma(W) \neq G \setminus \{0\}$  and thus there exists  $h \in G$  such that Wh is zero-sum free. So  $Wh(-h - \sigma(W))$  is a minimal zero-sum sequence of length 2n - 1. It follows from Lemma 2.2 that there exist a basis  $(e_1, e_2)$  of G and integers  $x_1, \ldots, x_n \in [0, n - 1]$  with  $x_1 + \ldots + x_n \equiv 1 \pmod{n}$  such that  $Wh(-h - \sigma(W)) = e_1^{n-1} \prod_{\nu=1}^n (x_{\nu}e_1 + e_2)$ .

such that  $Wh(-h-\sigma(W))=e_1^{n-1}\prod_{\nu=1}^n(x_\nu e_1+e_2)$ . Suppose  $W=e_1^{2n-3-\ell}\prod_{\nu=1}^\ell(x_\nu e_1+e_2)$ , where  $\ell\in[n-2,n]$ . If  $\ell=n-2$ , let  $g_1=e_1$  and  $g_2=e_2$ . Then W is of the form as desired So we may assume that  $\ell\in[n-1,n]$  and we divide the rest of the proof into two cases according to the values of  $\ell$ .

Case 1.  $\ell = n - 1$ . Let  $W_1 = e_1^{n-2}$  and  $W_2 = \prod_{\nu=1}^{n-1} (x_{\nu}e_1 + e_2)$ .

We first show that  $x_1 = \ldots = x_{n-1}$ . Otherwise, we may assume that  $x_{n-2} \neq x_{n-1}$ . Then  $je_2 + (\sum_{\nu=1}^{j-1} x_{\nu})e_1 + \{x_{n-2}e_1, x_{n-1}e_1\} \subset \Sigma(W_2) \cap (je_2 + \langle e_1 \rangle)$  for every  $j \in [1, n-2]$ . It follows from Lemma 2.1 that

$$|\Sigma(W) \cap (je_2 + \langle e_1 \rangle)| \ge |(\Sigma(W_2) \cap (je_2 + \langle e_1 \rangle)) + \Sigma(0W_1)|$$

$$\geq |je_2 + (\sum_{\nu=1}^{j-1} x_{\nu})e_1 + \Sigma(0W_1)| \geq n$$

for every  $j \in [1, n-2]$  and

$$|\Sigma(W)\cap((n-1)e_2+\langle e_1\rangle)|$$

$$=|(n-1)e_2+(\sum_{\nu=1}^{n-1}x_{\nu})e_1+\Sigma(0W_1)|=n-1.$$

Note that  $|\Sigma(W) \cap \langle e_1 \rangle| = |\{e_1, \ldots, (n-2)e_1\}| = n-2$ . Therefore,

$$|\Sigma(W)| = \sum_{j=0}^{n-1} |\Sigma(W) \cap (je_2 + \langle e_1 \rangle)| \ge (n-2) + n(n-2) + (n-1)$$

$$= n^2 - 3 > n^2 - n - 1,$$

yielding a contradiction. Therefore  $x_1 = \ldots = x_{n-1}$ .

Let  $g_1 = x_1e_1 + e_2$  and  $g_2 = e_1$ . Then  $\{g_1, g_2\}$  is a basis of G and  $W = g_1^{n-1}g_2^{n-2}$  as desired.

Case 2.  $\ell = n$ . Let  $W_1 = e_1^{n-3}$  and  $W_2 = \prod_{\nu=1}^n (x_{\nu}e_1 + e_2)$ .

We first show that  $h(W_2) = n - 1$ . Assume to the contrary that  $h(W_2) \le n - 2$ . Suppose that  $x_1 \ne x_2$ . Similar to Case 1, we obtain that  $|\Sigma(W) \cap (je_2 + \langle e_1 \rangle)| \ge n - 1$  for every  $j \in [1, n - 1]$ . Since  $x_1 + \ldots + x_n \equiv 1 \pmod{n}$ , we infer that  $\sigma(W_2) = e_1$  and thus  $|\Sigma(W) \cap \langle e_1 \rangle| = |\{e_1, \ldots, (n-2)e_1\}| = n - 2$ . Then

$$n^{2} - n - 1 = |\Sigma(W)| = \sum_{j=0}^{n-1} |\Sigma(W) \cap (je_{2} + \langle e_{1} \rangle)|$$
$$\geq n - 2 + (n-1)(n-1) = n^{2} - n - 1.$$

So  $|\Sigma(W) \cap (je_2 + \langle e_1 \rangle)| = n - 1$  for every  $j \in [1, n - 1]$ . By Lemma 2.1, we obtain that

$$n-1 \le |e_2 + \{x_1e_1, x_2e_1\} + \{0, e_1, \dots, (n-3)e_1\}|$$
  
 
$$\le |\Sigma(W) \cap (e_2 + \langle e_1 \rangle)| = n-1.$$

So  $|\Sigma(W)\cap(e_2+\langle e_1\rangle)| = |e_2+\{x_1e_1,x_2e_1\}+\{0,e_1,\ldots,(n-3)e_1\}| = n-1$ . This forces that  $\sup(x_1,\ldots,x_n)=\{x_1,x_2\}$  and  $x_1=x_2\pm 1$ . Suppose  $x_1,\ldots,x_n=x_1^{n-t}x_2^t$  and  $x_2=x_1+1$ . Since  $h(S)\leq n-2$ , we infer that

 $t \in [2, n-2]$ . Then  $x_1 + \ldots + x_n = (n-t)x_1 + t(x_1+1) = nx_1 + t \equiv t \pmod{n}$ , yielding a contradiction to that  $x_1 + \ldots + x_n \equiv 1 \pmod{n}$ . Therefore  $h(W_2) = n-1$ .

Next we assume that  $x_1 = \ldots = x_{n-1}$ . Since  $x_1 + \ldots + x_n \equiv 1 \pmod{n}$ , we infer that  $x_n = x_1 + 1$ . Let  $g_1 = x_1e_1 + e_2$  and  $g_2 = e_1$ . Then  $\{g_1, g_2\}$  is a basis of G and  $W = g_1^{n-1}g_2^{n-3}(g_1 + g_2)$  as desired.  $\square$ 

Acknowledgements. The research was carried out during a visit by the third author to Brock University as international visiting scholars. He would like to gratefully thank the host institution for its hospitality and for providing an excellent atmosphere for research.

This research was supported in part by the Fundamental Research Funds for the Central Universities (Grant No. 3122015L010), the Scientific research project of Tianjin Municipal Education Commission (Grant No. 2018KJ252), the China Scholarship Council (Grant No. 201707315011), the National Science Foundation of China (Grant No. 11301531), and was also supported in part by a Discovery Grant from the Natural Sciences and Engineering Research Council of Canada.

#### REFERENCES

- [1] B. Bollobás and I. Leader, The number of k-sums modulo k, J. Number Theory 78 (1999), 27-35.
- [2] R.B. Eggleton and P. Erdös, Two combinatorial problems in group theory, Acta Arith. 21 (1972), 111-116.
- [3] W. Gao, A. Geroldinger and D. Grynkiewicz, Inverse zero-sum problems III, Acta Arith., 141 (2010), 103-152.
- [4] W. Gao, Y. Li, J. Peng, and F. Sun, On subsequence sums of a zero-sum free sequence II, The Electronic Journal of Combinatorics. 15 (2008), R117.
- [5] A. Geroldinger and F. Halter-Koch, Non-Unique Factorizations. Algebraic, Combinatorial and Analytic Theory, Pure and Applied Mathematics, 700p, vol. 278, Chapman & Hall/CRC, 2006.
- [6] H. Guan, X. Zeng, and P. Yuan, Description of invariant F(5) of a zerosum free sequence, Acta Scientiarum Naturalium Universitaties Sunyatseni 49 (2010), 1-4. (In Chinese)
- [7] J.E. Olson, Sums of sets of group elements, Acta Arith. 28 (1975), 147-156.
- [8] J. Peng, W. Hui. On the structure of zero-sum free set with minimum subset sums in abelian groups. To appear in Ars Combinatoria.
- [9] J. Peng, Y. Li, C. Liu, and M. Huang On the inverse problems associated with subsequence sums of zero-sum free sequences over finite abelian groups. Submitted.
- [10] A. Pixton. Sequences with small subsums sets, J. Number Theory 129 (2009), 806-817.
- [11] C. Reiher, A proof of the theorem according to which every prime number possesses Property B, Preprints aus dem Institut f
  ür Mathematik, Universit
  ät Rostock, (2013)

[12] F. Sun, On subsequence sums of a zero-sum free sequence, Electron. J. Combin. 14 (2007), R52.

[13] P. Yuan, Subsequence sums of a zero-sumfree sequences, European Journal of Combinatorics 30 (2009), 439-446.

[14] P. Yuan, Subsequence Sums of Zero-sum-free Sequences, The Electronic Journal of Combinatorics 16 (2009), R97.

[15] P. Yuan and X. Zeng, On zero-sum free subsets of length 7, The Electronic Journal of Combinatorics 17 (2010), R104.

COLLEGE OF SCIENCE, CIVIL AVIATION UNIVERSITY OF CHINA, TIANJIN, P.R. CHINA, 300300

E-mail address: sunfang2005@163.com

DEPARTMENT OF MATHEMATICS AND STATISTICS, BROCK UNIVERSITY, St. CATHARINES, ONTARIO, CANADA L2S 3A1

E-mail address: yli@brocku.ca

College of Science, Civil Aviation University of China, Tianjin, P.R. China 300300

E-mail address: jtpeng1982@aliyun.com